
 

品

 

 細いチェーンクランプ 
番：ＥＳＰＩ－１００ 
ESPI-100
部品番号 部品名 数量 Ｎｏ．

1544001 本体 1 1

1544002 プレート１ 1 2

1544003 プレート２ 1 3

1544004 プレート３ 1 4

1544005 プレート４ 1 5

1544006 支持棒受け 2 6

1544007 シャフト 1 7

1544008 カラー 4 8

1544009 引張りねじ 1 9

1544010 握り 1 10

1544011 蝶ボルト M8×20  2種 1 11

1544012 六角穴付ボルト M5×8 1 12

1544013 六角穴付ボタンボルト M5×18 4 13

1544014 六角穴付ボタンボルト M5×20 2 14

1544015 六角穴付ボタンボルト M5×30 2 15

1544016 平座金 呼5 並形 7 16

1544017 バネ座金 呼5  2号 6 17

1544019 スプリングピン 4×14AW 2 19

1544020 チェン組立 1 20


